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Example

1. Solve the following equations graphically

x+y=3 , 3x-2y=4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EFpjmsiyomMB


Watch Video Solution

2. Solve the following system of equations

graphically x+3y=6 , 2x-3y=12 and find the value

of a if 4x+3y=a

Watch Video Solution

3. Solve the following system of by the method

of substitution

(i)x + 2y = -1 ; 2x - 3y = 12

https://dl.doubtnut.com/l/_EFpjmsiyomMB
https://dl.doubtnut.com/l/_ZutTGqVzEViK
https://dl.doubtnut.com/l/_x2H9bOWIXIB7


Watch Video Solution

4. Solve the following system of by the method

of substitution:(ii)2x+3y=9 ,3x+4y=5

Watch Video Solution

5. Solve the following system of by the method

of eliminations:(i)11x+15y+23=0 ,7x-2y-20=0

Watch Video Solution

https://dl.doubtnut.com/l/_x2H9bOWIXIB7
https://dl.doubtnut.com/l/_AVtduipQyACO
https://dl.doubtnut.com/l/_aUeQfF85glPD
https://dl.doubtnut.com/l/_LKqkuvChuHni


Exercise

6. Solve the following system of by the method

of eliminations:
0.4x-15y=6.5 ,0.3x+0.2y=0.9

Watch Video Solution

7. Solve the following system of by the method

of cross multiplication :4x-7y+28=0 5y-7x+9=0

Watch Video Solution

https://dl.doubtnut.com/l/_LKqkuvChuHni
https://dl.doubtnut.com/l/_JPeCOXBpHEhN


1. Form the pair of linear equations in the

following problems,and find their solution

graphically.(i)10 students of class X took part

in a Mathematics quiz.If the number of girls is

4 more than the number of boys,find the

number of boys and girls who took part in the

quiz.

Watch Video Solution

https://dl.doubtnut.com/l/_p79flz9vsSn0


2. On comparing the rations 

,find out whether the lins representing the

following pairs of linear equations intersect at

a point,are parallel or coincide:(i) 5x-4y+8=0

;7x+6y-9=0

Watch Video Solution

, and
a1

a2

b1

b2

c1

c2

3. On comparing the rations 

,find out whether the lins representing the

following pairs of linear equations intersect at

, and
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_B4t6V4cmhj6N
https://dl.doubtnut.com/l/_NBMy5Hg6rp6Z


a point,are parallel or coincide:(ii)9x+3y+12=0 ;

18x+6y+24=0

Watch Video Solution

4. On comparing the ratios 

,find out whether the lines representing the

following pairs of linear equations intersect at

a point,are parallel or coincide:(iii)6x-3y+10=0

;2x-y+9=0

Watch Video Solution

, and
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_NBMy5Hg6rp6Z
https://dl.doubtnut.com/l/_xxyN6bTFWdE6
https://dl.doubtnut.com/l/_1kzv2suP0Jzd


5. On comparing the rations 

,find out whether the following pairs of linear

equations are consistent,or inconsistent:

(i)3x+2y=5 2x-3y=7

Watch Video Solution

, and
a1

a2

b1

b2

c1

c2

6. On comparing the rations 

,find out whether the following pairs of linear

equations are consistent,or inconsistent:(ii)2x-

3y=8 4x-6y=9

Watch Video Solution

, and
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_1kzv2suP0Jzd
https://dl.doubtnut.com/l/_BN9LbDCApssr


7. On comparing the rations 

,find out whether the following pairs of linear

equations are consistent,or inconsistent:

(iii)3/2x+5/3y=7 ,9x-10y=14

Watch Video Solution

, and
a1

a2

b1

b2

c1

c2

8. On comparing the rations 

,find out whether the following pairs of linear

, and
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_BN9LbDCApssr
https://dl.doubtnut.com/l/_wSpxaufBgUp9
https://dl.doubtnut.com/l/_ijEFbXdZgYzg


equations are consistent,or inconsistent:(iv)

5x-3y=11 -10x+6y=-22

Watch Video Solution

9. On comparing the rations 

,find out whether the following pairs of linear

equations are consistent,or inconsistent:

(v)4/3x+2y=8 2x+3y=12

Watch Video Solution

, and
a1

a2

b1

b2

c1

c2

https://dl.doubtnut.com/l/_ijEFbXdZgYzg
https://dl.doubtnut.com/l/_EUe3RBBNqzHj


10. Which of the following pairs of linear

equations are consistent/inconsistent?If

consistent obtain the solution in such cases

graphically.(i)x+y=5 ,2x+2y=10

Watch Video Solution

11. Which of the following pairs of linear

equations are consistent/inconsistent?If

consistent obtain the solution in such cases

graphically.(ii) x-y=8, 3x-3y=16

https://dl.doubtnut.com/l/_AgoD1dCvZ9uX
https://dl.doubtnut.com/l/_nlHKcF6OmdcF


Watch Video Solution

12. Which of the following pairs of linear

equations are consistent/inconsistent?If

consistent obtain the solution in such cases

graphically.(ii) 2x-2y-2=0 , 4x-4y-5=0

Watch Video Solution

13. Half the perimeter of rectangular

garden,whose length is 4 m more than its

https://dl.doubtnut.com/l/_nlHKcF6OmdcF
https://dl.doubtnut.com/l/_0cHLQTwh6mVQ
https://dl.doubtnut.com/l/_fz7MlP9xI5rt


width,is 36 m.Find the dimensions of the

garden.

Watch Video Solution

14. Given the linear equation 2x+3y-8=0,write

another linear equation in two variables such

that the geometrical representation of the

pair so formed is:(i) intersecting lines

Watch Video Solution

https://dl.doubtnut.com/l/_fz7MlP9xI5rt
https://dl.doubtnut.com/l/_r9kyrzKmxH5s


15. Given the linear equation 2x+3y-8=0,write

another linear equation in two variables such

that the geometrical representation of the

pair so formed is:(ii) parallel lines

Watch Video Solution

16. Given the linear equation 2x+3y-8=0,write

another linear equation in two variables such

that the geometrical representation of the

pair so formed is:(iii) coincident lines

https://dl.doubtnut.com/l/_xks4XmkuEYZ6
https://dl.doubtnut.com/l/_Q8P6aklDkyrR


Watch Video Solution

17. Draw the graphs of the equations x-y+1=0

and 3x+2y-12=0.Determine the coordinates of

the vertices of the triangle formed by these

lines and the x-axis,and shade the triangular

region.

Watch Video Solution

18. Solve the following pair of linear equations

by the substitutation method: (i) x+y=14 , x-y=4

https://dl.doubtnut.com/l/_Q8P6aklDkyrR
https://dl.doubtnut.com/l/_Trdnoz9OoDJJ
https://dl.doubtnut.com/l/_LyYMvnKy9AJA


Watch Video Solution

19. Solve the following pair of linear equations

by the substitution method: (ii) s-t=3 ,

s/3+t/2=6

Watch Video Solution

20. Solve the following pair of linear equations

by the substitution method: (iii)3x-y=3 ,9x-3y=9

Watch Video Solution

https://dl.doubtnut.com/l/_LyYMvnKy9AJA
https://dl.doubtnut.com/l/_nLnpbqqDk5GS
https://dl.doubtnut.com/l/_METmdC1L5yw5


21. Solve the following pair of linear equations

by the substitution method: (iv)0.2x+0.3y=1.3

,0.4x+0.5y=2.3

Watch Video Solution

22. Solve the following pair of linear equations

by the substitution method: (v)

 

Watch Video Solution

√2x + √3y = 0 √3x − √8y = 0

https://dl.doubtnut.com/l/_METmdC1L5yw5
https://dl.doubtnut.com/l/_lU4MQRpZCgvy
https://dl.doubtnut.com/l/_A3f1ZY8GzzQf


23. Solve the following pair of linear equations

by the substitution method: (vi)

 , 

Watch Video Solution

− = 2
3x

2

5y

3
+ =

x

3

y

2

13

6

24. Solve 2x+3y=11 and 2x-4y=-24 and hence find

the value of 'm' for which y=mx+3.

Watch Video Solution

https://dl.doubtnut.com/l/_Jh3Eu1eTWv8Q
https://dl.doubtnut.com/l/_I5IFFw4aqwNa


25. Form the pair of linear equations for the

following problems and find their solutions by

substitution method.(i) The difference

between two numbers is 26 and one number is

three times the other.Find them.

Watch Video Solution

26. Form the pair of linear equations for the

following problems and find their solutions by

substitution method.(ii) The larger of two

https://dl.doubtnut.com/l/_pz5zv4EPpayK
https://dl.doubtnut.com/l/_v5ttSrP6OWpW


supplementary angles exceeds the samller by

18 degress.Find them.

Watch Video Solution

27. Form the pair of linear equations for the

following problems and find their solutions by

substitution method.(iii) The coach of a cricket

team boys 7 bats and 6 balls for ₹3800.Later

she boys 3 bats and 5 balls for ₹1750.Find the

cost of each bat and each ball.

Watch Video Solution

https://dl.doubtnut.com/l/_v5ttSrP6OWpW
https://dl.doubtnut.com/l/_xkBSarZyRZSo


28. Form the pair of linear equations for the

following problems and find their solutions by

substitution method.

(iv)The taxi charges in a city consist of a fixed

charge together with the charge for the

distance covered.For a distance of 10 km,the

charge paid is ₹105 and for a journey of 15

km,the charge paid is ₹155 .What are the fixed

charges and the charges per kilometer? How

much does a person have to pay for travelling

a distance of 25 km?

https://dl.doubtnut.com/l/_xkBSarZyRZSo
https://dl.doubtnut.com/l/_vpVFgQYTY71k


Watch Video Solution

29. Form the pair of linear equations for the

following problems and find their solutions by

substitution method.(v)A fraction becomes

9/11,if 2 is added to both the numerator and

the denominator.If 3 is added to both the

numerator and the denominator it becomes

5/6.Find the fraction.

Watch Video Solution

https://dl.doubtnut.com/l/_vpVFgQYTY71k
https://dl.doubtnut.com/l/_3Lpira9WNuKa
https://dl.doubtnut.com/l/_ZreBlb3c8rWq


30. Form the pair of linear equations for the

following problems and find their solutions by

substitution method.(iv) Five years hence,the

age of Jacob will be three times that of his

son.Five years ago.Jacob's age was seven times

that of his son.What are their present ages.

Watch Video Solution

31. Solve the following pair of linear equations

by the elimination method and the

substitution method :(i)x+y=5 and 2x-3y=4

https://dl.doubtnut.com/l/_ZreBlb3c8rWq
https://dl.doubtnut.com/l/_6fZBMS9sBmlX


Watch Video Solution

32. Solve the following pair of linear equations

by the elimination method and the

substitution method :(ii) 3x+4y=10 and 2x-2y=2

Watch Video Solution

33. Solve the following pair of linear equations

by the elimination method and the

substitution method :(iii) 3x-5y-4=0 and

9x=2y+7

https://dl.doubtnut.com/l/_6fZBMS9sBmlX
https://dl.doubtnut.com/l/_yOF78emNRcjB
https://dl.doubtnut.com/l/_K7WC41XOLR08


Watch Video Solution

34. Solve the following pair of linear equations

by the elimination method:(iv)

 and x-y/3=3

Watch Video Solution

+ = − 1
x

2

2y

3

35. Form the pair of linear equations in the

following problems,and find their solutions(if

they exist) by the elimination method:(i)If we

https://dl.doubtnut.com/l/_K7WC41XOLR08
https://dl.doubtnut.com/l/_02dxrYguqOvy
https://dl.doubtnut.com/l/_sbz5F8YHcQ5x


add 1 to the numerator and subtract 1 from

the denominator a fraction reduces to 1.It

becomes 1/2 if we only add 1 to the

denominator.What is the fraction?

Watch Video Solution

36. Form the pair of linear equations in the

following problems,and find their solutions(if

they exist) by the elimination method:(ii) Five

years age,Nuri was thrice as old as Sonu.Ten

https://dl.doubtnut.com/l/_sbz5F8YHcQ5x
https://dl.doubtnut.com/l/_uB8Hq4PaML35


years later,Nuri will be twice as old as

Sonu.How old are Nuri and Sonu?

Watch Video Solution

37. Form the pair of linear equations in the

following problems,and find their solutions(if

they exist) by the elimination method:(iii) The

sum of the digits of a two-digit number is

9.Also nine times this number is twice the

number obtained by reversing the order of the

digits.Find the number.

https://dl.doubtnut.com/l/_uB8Hq4PaML35
https://dl.doubtnut.com/l/_DOiA9bjk4Yu8


Watch Video Solution

38. Form the pair of linear equations in the

following problems,and find their solutions(if

they exist) by the elimination method:

(iv)Meena went to a bank to withdraw

Rs.2000.She asked the cashier to give her

Rs.50 and Rs.100 notes only.Meena got 25

notes in all.Find how many notes of Rs 50 and

Rs.100 she received.

Watch Video Solution

https://dl.doubtnut.com/l/_DOiA9bjk4Yu8
https://dl.doubtnut.com/l/_hIz2oanXFd03
https://dl.doubtnut.com/l/_JJkDvqrGxZZI


39. Which of the following pairs of linear

equations has unique solution,no solution,or

infinitely many solutions.In each there is

unique solution ,find it by using cross

multiplication method.(i) x-3y-3=0 3x-9y-2=0

Watch Video Solution

40. Which of the following pairs of linear

equations has unique solution,no solution,or

infinitely many solutions.In each there is

https://dl.doubtnut.com/l/_JJkDvqrGxZZI
https://dl.doubtnut.com/l/_2hZay5pmDRVH


unique solution ,find it by using cross

multiplication method.(ii)2x+y-5 3x+2y=8

Watch Video Solution

41. Which of the following pairs of linear

equations has unique solution,no solution,or

infinitely many solutions.In each there is

unique solution ,find it by using cross

multiplication method.(iii) 3x-5y=20 6x-10y=40

Watch Video Solution

https://dl.doubtnut.com/l/_2hZay5pmDRVH
https://dl.doubtnut.com/l/_8O3PRJClxuRc
https://dl.doubtnut.com/l/_14k90Ak9BG17


42. Which of the following pairs of linear

equations has unique solution,no solution,or

infinitely many solutions.In each there is

unique solution ,find it by using cross

multiplication method.(iv)3x-3y-7=0 3x-3y-15=0

Watch Video Solution

43. For which values of a and b does the

following pair of linear equations have an

infinite number of solution?2x+3y=7 (a-b)x+

(a+b)y=3a+b-2

https://dl.doubtnut.com/l/_14k90Ak9BG17
https://dl.doubtnut.com/l/_XXM6iGRPehss


Watch Video Solution

44. For which value of k will the following pair

of linear equation have no solution? 3x+y=1,

(2k-1)x+(k-1)y=2k+1

Watch Video Solution

45. Solve the following pair of linear equations

by substitution and cross-multiplication

methods: 8x+5y=9 3x+2y=4

https://dl.doubtnut.com/l/_XXM6iGRPehss
https://dl.doubtnut.com/l/_EB6PlKauZwAD
https://dl.doubtnut.com/l/_3wuO5ltCQ4ZE


Watch Video Solution

46. Form the pair of linear equations in the

following problems and find their solutions (if

they exist) by any algebraic method:(i) A part

of monthly hostel charges is fixed and the

remaining depends on the number of days

one has taken food in the mess.When a

student A takes food for 20 days she has to

pay Rs 1000 as hostel charges whereas a

student B,who takes food for 26 days,pays Rs

https://dl.doubtnut.com/l/_3wuO5ltCQ4ZE
https://dl.doubtnut.com/l/_3JOfMKi8MNRZ


1180 as hostel charges.Find the fixed charges

and the cost of food per day.

Watch Video Solution

47. Form the pair of linear equations in the

following problems and find their solutions (if

they exist) by any algebraic method: A fraction

becomes 1/3 when 1 is subtracted from the

numerator and it becomes 1/4 when 8 is added

to its denominator.Find the fraction.

Watch Video Solution

https://dl.doubtnut.com/l/_3JOfMKi8MNRZ
https://dl.doubtnut.com/l/_r7cTZQFUTMlu


48. Form the pair of linear equations in the

following problems and find their solutions (if

they exist) by any algebraic method:Places A

and B are 100km apart on a highway.One car

starts from A and another from B at the same

time.If the car travel in the direction at

different speeds,they meet in 5 hours.If they

travel towared each other,they meet in 1 hour

.What are the speeds of the two cars?

Watch Video Solution

https://dl.doubtnut.com/l/_r7cTZQFUTMlu
https://dl.doubtnut.com/l/_dNpDo6BRQd5W
https://dl.doubtnut.com/l/_2MlYAUUxL3VF


49. Form the pair of linear equations in the

following problems and find their solutions (if

they exist) by any algebraic method:The area

of rectangle gets reduced by 9 square units,if

its length is reduced by 5 units and breadth is

increased by 3 units.If we increase the length

by 3 units and the breadth by 2 units,the ares

increases by 67 square units.Find the

dimensions of the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_2MlYAUUxL3VF
https://dl.doubtnut.com/l/_8Uc0VP88VfcU


50. Solve the following pairs of equations by

reducing them to a pair of linear equations:(i)

 

Watch Video Solution

+ = 2
1

2x

1

3y
+ =

1

3x

1

2y

13

6

51. Solve the following pairs of equations by

reducing them to a pair of linear equations:(ii)

, 

Watch Video Solution

+ = 2
2

√x

3

√y
− = − 1

4

√x

9

√y

https://dl.doubtnut.com/l/_8Uc0VP88VfcU
https://dl.doubtnut.com/l/_dZLEaeaXkDUC


52. Solve the following pairs of equations by

reducing them to a pair of linear equations:

(iii)4/x+3y=14 3/x-4y=23

Watch Video Solution

53. Solve the following pairs of equations by

reducing them to a pair of linear equations:(iv)

 

Watch Video Solution

+ = 2
5

x − 1

1

y − 2
− = 2

6

x − 1

3

y − 2

https://dl.doubtnut.com/l/_DgdnLYrGoCQH
https://dl.doubtnut.com/l/_4HkNqgVtuRcl
https://dl.doubtnut.com/l/_t6wJyu2xCADD


54. Solve the following pairs of equations by

reducing them to a pair of linear equations:(v)

 

Watch Video Solution

= 5
7x − 2y

xy
= 15

8x + 7y

xy

55. Solve the following pairs of equations by

reducing them to a pair of linear equations:(v)

6x+3y=6xy 2x+4y=5xy

Watch Video Solution

https://dl.doubtnut.com/l/_t6wJyu2xCADD
https://dl.doubtnut.com/l/_1Re8tTaOPWAi
https://dl.doubtnut.com/l/_NFlQgvcp1rRH


56. Solve the following pairs of equations by

reducing them to a pair of linear equations:

(vii) ,

Watch Video Solution

+ = 4
10

x + y

2

x − y

+ = − 2
15

x + y

5

x − y

57. Solve the following pairs of equations by

reducing them to a pair of linear equations:

(viii)  

Watch Video Solution

+ =
1

3x + y

1

3x − y

3

4

− =
1

2(3x + y)

1

2(3x − y)

−1

8

https://dl.doubtnut.com/l/_NFlQgvcp1rRH
https://dl.doubtnut.com/l/_E3ywLpFSdz3C


58. Formulate the following problems as a pair

of equation,and hence find their solutions: (i)

Ritu can row downstream 20 km in 2

hours,and upstream 4 km in 2 hours.Find her

speed of rowing in still water and the speed of

the current.

Watch Video Solution

59. Formulate the following problems as a pair

of equation,and hence find their solutions:(ii)

https://dl.doubtnut.com/l/_E3ywLpFSdz3C
https://dl.doubtnut.com/l/_ZdaGr7K2nrzm
https://dl.doubtnut.com/l/_z5F3JUUM24v4


2 women and 5 men can together finish an

embroidery work in 4 days,while 3 women and

6 men can finish it in 3 days.Find the time

taken by 1 woman alone to finish the work,and

also that taken by 1 man alone.

Watch Video Solution

60. The ages of two friends Ani and Biju differ

by 3 years.Ani's father Dharman is twice as old

as Ani and Biju is twice as old as his sister

https://dl.doubtnut.com/l/_z5F3JUUM24v4
https://dl.doubtnut.com/l/_xdPqOoVFNCie


Cathy.The ages of cathy and Dharman differ by

30 years.Find the ages of Ani and Biju.

Watch Video Solution

61. One says,"Give me hundred,friend!?I shall

then become twice as rich as you ".The other

replies,"If you give me ten,I shall be six time as

rich as you ".Tell me what is the amount of

their (respective) capital ?[From the Bijaganita

of Bhaskara 11]

Watch Video Solution

https://dl.doubtnut.com/l/_xdPqOoVFNCie
https://dl.doubtnut.com/l/_RKQL0zG2ck45


62. A train covered a certain distance at a

uniform speed.If the train would have been 10

km/h faster,it would have taken 2 hours less

than the scheduled time.And if the train were

slower by 10 km/h,it would have taken 3 hours

more than the scheduled time.Find the

distance covered by the train.

Watch Video Solution

https://dl.doubtnut.com/l/_RKQL0zG2ck45
https://dl.doubtnut.com/l/_biAPGhr5MTUj


63. The students of a class are made to stand

in rows.If 3 students are extra in a row, there

would be 1 row less.If 3 students are less in a

row,there would be 2 rows more.Find the

number of students in the class.

Watch Video Solution

64. In a ,

.Find the three angles.

Watch Video Solution

△ ABC ∠C = 3∠B = 2(∠A + ∠B)

https://dl.doubtnut.com/l/_dh2kNyLg59kf
https://dl.doubtnut.com/l/_jgFBlcmyqDZT


65. Draw the graphs of the equations 5x-y=5

and 3x-y=3.Determine the coordinates of the

vertices of the triangles formed by these lines

and the y-axis.

Watch Video Solution

66. Solve the following pair of linear

equations:(i)px+qy=p-q qx-py=p+q

Watch Video Solution

https://dl.doubtnut.com/l/_jgFBlcmyqDZT
https://dl.doubtnut.com/l/_lZwvOxTvzPVj
https://dl.doubtnut.com/l/_4l19Kb0gczRz


67. Solve the following pair of linear equations:

(ii)ax+by=c ,bx+ay=1+c

Watch Video Solution

68. Slove the following pair of linear

equations:(iii)x/a-y/b=0 

Watch Video Solution

ax + by = a2 + b2

https://dl.doubtnut.com/l/_Ab8vRbBbSMvv
https://dl.doubtnut.com/l/_YKD3i4xsIPEd


69. Solve the following pair of linear

equations:(iv)

 ,

Watch Video Solution

(a − b)x + (a + b)y = a2 − 2ab − b2

(a + b)(x + y) = a2 + b2

70. Solve the following pair of linear

equations:(v)152x-378y=-74 -378x+152y=-604

Watch Video Solution

https://dl.doubtnut.com/l/_QuoHWnmcXrCn
https://dl.doubtnut.com/l/_CFb9piPyyRJc
https://dl.doubtnut.com/l/_DRmzw0YWx6JS


71. The pair of linear equations kx+2y=5 and

3x+y=1 has unique solution if 

a)k=0
b) 
c)k=2
d)k=3

A. k=0

B. 

C. k=2

D. k=3

Answer:

Watch Video Solution

k ≠ 6

k ≠ 0

https://dl.doubtnut.com/l/_DRmzw0YWx6JS
https://dl.doubtnut.com/l/_XWIGQl0vxqUl


72. The pair of linear equations -5x+2y=8 and

2x-5y-3=0 have
 a)one solution
 b)two solution

c)many solution
d)no solution

A. one solution

B. two solution

C. many solution

D. no solution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XWIGQl0vxqUl


73. The pair of linear equations 2x+3y=5 and

4x+ky=10 has infinite solutions if 

a)k=0
b)k=1
c)k=3
d)k=6

A. k=0

B. k=1

C. k=3

D. k=6

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kF5ydWEsyDUt


74. The pair of equations 2x-5y+4=0 and 2x+y-

8=0 has

A. a unique solution

B. exactly many solution

C. infinitely many solution

D. no solution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mbP6p47XmddB
https://dl.doubtnut.com/l/_i2aCgtnK4Wdk


75. The pair of equations y=0 and y=-7 has 

a)one solution
b)two solution
c)infinitely many

solution
d)no solution

A. one solution

B. two solution

C. infinitely many solution

D. no solution

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_i2aCgtnK4Wdk
https://dl.doubtnut.com/l/_ydIavhpYIsBt


76. If the pair of equations 2x+3y=11 and

(a+b)x+(2a-b)y=33 has infinitely many solution

then

a)a=-1,b=5
b)a=1,b=5
c)a=5,b=1
d)a=5,b=-1

A. a=-1,b=5

B. a=1,b=5

C. a=5,b=1

D. a=5,b=-1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ydIavhpYIsBt


77. The pair of equations 3x+y=1 (2k-1)x+(k-

1)y=2k+1 is consistent for what value of k?

Watch Video Solution

78. If the lines given by 3x+2ky=2 and

2x+5y+1=0 are parallel then the value of k is 

a) 
b) 
c) 
d)

A. 

B. 

3

2
−

5

4

15

4

2

5

3

2

−
5

4

https://dl.doubtnut.com/l/_ydIavhpYIsBt
https://dl.doubtnut.com/l/_yVK6MHZ9PBpE
https://dl.doubtnut.com/l/_NnxEtNAbVAZk


C. 

D. 

Answer:

Watch Video Solution

15

4

2

5

79. If a pair of linear equations is consistent

then the lines will be

a) parallel
 b)intersecting or coincident

c)always coincident
d)always intersecting

https://dl.doubtnut.com/l/_NnxEtNAbVAZk
https://dl.doubtnut.com/l/_2eJ3UhI1CJuu


A. parallel

B. intersecting or coincident

C. always coincident

D. always intersecting

Answer:

Watch Video Solution

80. If x=a,y=b is the solution of the equations x-

y=2 and x+y=4 then the values of a and b are

https://dl.doubtnut.com/l/_2eJ3UhI1CJuu
https://dl.doubtnut.com/l/_6TnAuRJFvRNu


respectively,

a)3 and 1
b)-1 and -3
c)6 and 4
d)5 and 3

A. 3 and 1

B. -1 and -3

C. 6 and 4

D. 5 and 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_6TnAuRJFvRNu


81. If  then the pair of equations

ax+by=c, lx+my=n

a)has a unique solution
 b)has no solution

c)has infinitely many
d)may or may not have a

solution

A. has a unique solution

B. has no solution

C. has infinitely many

D. may or may not have a solution

Answer:

am ≠ bl

https://dl.doubtnut.com/l/_eYTmlrYOUyCi


Watch Video Solution

82. The area of the triangle fomed by the line

x/a+y/b=1 with the Co-ordinate axes is 

a)ab
b)2ab
c)1/2ab
d)1/4ab

A. ab

B. 2ab

C. 1/2ab

D. 1/4ab

Answer:

https://dl.doubtnut.com/l/_eYTmlrYOUyCi
https://dl.doubtnut.com/l/_Cewsz1ZxNZZR


Watch Video Solution

83. The area of the triangle fomed by y=x,x=6

and y=0 is 

a)9 sq.units
 b)18sq.units
 c)36 sq.units
 d)72

sq.units

A. 9 sq,units

B. 18sq,units

C. 36 sq,units

D. 72 sq,units

https://dl.doubtnut.com/l/_Cewsz1ZxNZZR
https://dl.doubtnut.com/l/_PiSNDi5z4dHF


Answer:

Watch Video Solution

84. on solving 2/x+3/y=3,3/x+6/y=5 we get,

A. x=1,y=3

B. x=2,y=6

C. x=2,y=3

D. x=1/2,y=1/3

Answer:

https://dl.doubtnut.com/l/_PiSNDi5z4dHF
https://dl.doubtnut.com/l/_QF0HXMpfayuW


Watch Video Solution

https://dl.doubtnut.com/l/_QF0HXMpfayuW

